1. Complete the text with the relative pronouns in the box
then when where which who whose
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The British Interplanetary Society, 1. ... wasfoundedin I3
organisation 2......ecvemcvsceionenvae... Promotes space ewso,ra*.;of:. in th
days, 3... .. humans had not yet been into space, they worked on
designs for rockets More recentiy they have argued in favour of building 2 space station on
Mars, &......oomiieaeannn. .. scientists would be able to study the rocks anc Cemats.
Today, the So:rety is headed by Dr Robert Parkinson, 5... e has worked fo
various aerospace companies. But in the 1940s, its cha:rmaﬂ was science fichon wrter
ArthurC.Oarke. 6. novel 2001: A Spoce Odyssey was made E

well-known science fiction film.
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2. Complete the sentences (1-6) using the causes [a-f) below. Add a relative pronoun only

if necessary.

1 1think I've lost the booK ....ccoocceeeccccce. .

2 Covent Garden, .....ccccceeveerceenenn , 1S @ popular place for tourists to visit
3 Harperles, ..o , did not like appearing in public.

4 Camp Nowu stadium, oo , can hold nearly 99,000 fans.

5 The hotel ................c.......... burned down last week.

6 | wish I hadn’t lost the phone numberofthegirl ...

a Barcelona play their home matches

b used to be a fruit and vegetable market
¢ we stayed at in Paris last summer

d my best friend gave me for my birthday
e | met at my cousin’s wedding

f first novel was To Kill A Mockingbird
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3. Rewrite the sentences by using the correct relative pronoun.

1 Police are questioning a man arrested at the scene.

..............................................................................................

...........................................................................................................................

.........................................................................................................................

4 Rumours of a video recording, denied by the police, have been reported by news
agencies.

............................................................................................................................................

.............................................................................................................................................

...........................................................................................................................................

4. Combine each pair of sentences into one sentence with a relative clause. There may be
more than one possible answer.

1 I've got a place on a course. It starts in October,

...................................
....................................................
......................................................

.............................................
..................................................
.........................................

..............................................................................
.............................................................

4 The tuition fees would be unaffordable without a scholarship. The total £9,000 a year.

............................................................................................
................................................

5 My scholarship is worth £7,000 a year. It is awarded by the university,
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